
OSSSC EXAMINATION

CANDIDATE RESPONSE SHEET FOR THE POST OF LI,FORESTOR, FOREST GUARD

View Your Responses Grievance About Question View Grievance Questions Admin loggedin.[ Logout ]  

 

 

Roll No. :   1166013933

Candidate Name :   SUBRAT KUMAR SATAPATHY

Exam Name :   Livestock Inspector,Forester and Forest Guard

Test Date :   06 May 2024

Test Time :   12:30 PM

Centre

:   GANJAM-01
(ADISHAKTI INFOSYS
AT- KHODASINGI MAIN ROAD, NEAR-STATE BANK OF INDIA AMBAPUA BRANCH,
SRIDEVI BIHAR, BRAHMAPUR, DIST-GANJAM, ODISHA,INDIA
Pin Code:760010)

Correct Option selected Wrong Option selected Correct Option Not Answered
 

Section - I (English)

Q.No: 1 Find the antonym of "Precise".

Vague

Specific

Exact

Accurate

Q.No: 2 Read the following paragraph and then answer the questions given below by choosing the most appropriate
option based on what is said in the paragraph:

Artificial Intelligence in Education

Artificial Intelligence (AI) is transforming the education sector by providing personalized learning
experiences and automating administrative tasks. AI algorithms analyse student performance data to tailor
educational content, adapting to individual needs and learning styles. Virtual tutors powered by AI can
provide real-time assistance and feedback to students. However, concerns about data privacy and the need
for ethical AI use in education have been raised. Balancing the benefits of AI with ethical considerations is
crucial for the effective integration of technology in education.

How is Artificial Intelligence (AI) transforming education?

By decreasing administrative tasks

By automating administrative tasks and providing personalized learning experiences

By eliminating personalized learning

By reducing student performance data

Q.No: 3 Read the following paragraph and then answer the questions given below by choosing the most appropriate
option based on what is said in the paragraph:

Artificial Intelligence in Education

Artificial Intelligence (AI) is transforming the education sector by providing personalized learning
experiences and automating administrative tasks. AI algorithms analyse student performance data to tailor
educational content, adapting to individual needs and learning styles. Virtual tutors powered by AI can
provide real-time assistance and feedback to students. However, concerns about data privacy and the need
for ethical AI use in education have been raised. Balancing the benefits of AI with ethical considerations is
crucial for the effective integration of technology in education.

What is a role of virtual tutors powered by AI in education?

Increasing administrative workload

Eliminating personalized learning

Providing real-time assistance and feedback to students

Ignoring student performance data

Q.No: 4 Read the following paragraph and then answer the questions given below by choosing the most appropriate
option based on what is said in the paragraph:

Artificial Intelligence in Education

Artificial Intelligence (AI) is transforming the education sector by providing personalized learning
experiences and automating administrative tasks. AI algorithms analyse student performance data to tailor
educational content, adapting to individual needs and learning styles. Virtual tutors powered by AI can
provide real-time assistance and feedback to students. However, concerns about data privacy and the need
for ethical AI use in education have been raised. Balancing the benefits of AI with ethical considerations is
crucial for the effective integration of technology in education.

What do AI algorithms analyse to tailor educational content?

Student performance data

Student attendance

Teacher preferences

Classroom decorations

Q.No: 5 Choose the most appropriate synonym for the underlined word in the given sentence.
The enigmatic message puzzled everyone who tried to decipher it.

familiar

puzzling

clear

straightforward

Q.No: 6 What is the plural form of "crisis"?

crisises

crises

crisii

crisis's

Q.No: 7 Choose the correct sentence in the present continuous tense:

We will play football tomorrow.

She is playing football now.

They played football yesterday.

I play football every weekend.

Q.No: 8 Choose the correct option that completes the sentence logically and grammatically:
"Hockey is ______ national game of India."

a

an

the

No article required

Q.No: 9 They will paint the house next week. (Change to passive voice)

The house will be painting by them next week.

The house will be painted by them next week.

The house will paint by them next week.

They paint the house next week.

Q.No: 10 Choose the word that means "to praise":

Scorn

Commend

Denigrate

Criticize

Q.No: 11 In the following question, a sentence has been given in Active/Passive Voice. Out of the four alternative
suggested, select the one which best expresses the same sentence in Passive/Active Voice.

You need to clean your shoes properly.

Your shoes are needed by you to clean properly.

Your shoes need to be cleaned properly.

You are needed to clean your shoes properly.

Your shoes are needed to clean properly.

Q.No: 12 Arrange the following jumbled sentence into a coherent order:

A. During
B. At
C. Loudly
D. Recess
E. School
F. Children
G. Laugh

A-B-C-D-E-F-G

F-G-C-A-D-B-E

A-E-F-G-C-B-D

B-D-A-E-F-C-G

Q.No: 13 Choose the correct question tag from the four options given, that completes the sentence logically and
grammatically:
You've met her before, __________?

does she

isn't it

haven't you

haven't she

Q.No: 14 Choose the correct part of speech for the underlined word in the sentence.
The comedian delivered a hilarious performance at the comedy club.

Adjective

Verb

Adverb

Noun

Q.No: 15 Choose the correct meaning of the idiom or phrase underlined in the sentence:
Meena was all ears when her friend started sharing gossip.

Listening intently

Talking loudly

Covering her ears

Ignoring the conversation

Q.No: 16 Choose the correct part of speech for the underlined word in the sentence.
The teacher spoke loudly to get everyone's attention.

Adjective

Noun

Verb

Adverb

Q.No: 17 What is the term for "A person who writes novels, stories, or literary works"?

Novelist

Journalist

Calligrapher

Poet

Q.No: 18 Choose the correctly punctuated sentence:

My favourite colours are blue, green and yellow.

My favourite colours are blue green and yellow.

My favourite colours are blue green, and yellow.

My favourite colours are blue; green and yellow.

Q.No: 19 Choose the correct part of speech for the underlined word in the sentence.
The car is fast and sleek.

Noun

Verb

Adjective

Conjunction

Q.No: 20 Choose the correct option that completes the sentence logically and grammatically:
The teacher explained the concept ________ the students could understand it.

this

but

that

for

Q.No: 21 Fill in the blank with the correct present tense form:

She always _______ to school early.

come

came

comes

coming

Q.No: 22 Fill in the blank with the correctly spelled word:
The chef insisted on using only the finest __________ in preparing the gourmet dish.

Ingrediunts

Ingredents

Ingrediants

Ingredients

Q.No: 23 Choose the correct article in English grammar that completes the sentence:
I saw _____ red squirrel scampering up the tree.

a

an

the

No Article Required

Q.No: 24 Choose the correctly punctuated sentence.

I'm sorry, "the chemist said."

"I'm sorry the chemist said"

"I'm sorry" the chemist said

"I'm sorry," the chemist said.

Q.No: 25 What does the word "exuberant" mean?

Reserved

Gloomy

Solemn

Joyful

Section - II (Odia)

Q.No: 26

Q.No: 27

Q.No: 28

Q.No: 29

Q.No: 30

Q.No: 31

Q.No: 32

Q.No: 33

Q.No: 34

Not Answered

Q.No: 35

Q.No: 36

Q.No: 37

Q.No: 38

Q.No: 39

Q.No: 40

Q.No: 41

Q.No: 42

Q.No: 43

Q.No: 44

Q.No: 45

Q.No: 46

Q.No: 47

Q.No: 48

Q.No: 49

Q.No: 50

Not Answered

Section - III (Arithmetic)

Q.No: 51 What percent of 2 litres is 100 ml?

Q.No: 52 Person A incurs a loss of
20% by selling an article
for Rs.1000. At what price
should the article be sold
to earn a 10% profit?

Not Answered

Q.No: 53 What is 23% of 85?

Q.No: 54 A car travels 120
kilometers at the speed of
60 km/hr. What is its
average time in hours?

2 hours

4 hours

3 hours

1 hour

Q.No: 55 Which of these ratios is NOT equivalent to 5:7?

Q.No: 56 The average of 30 numbers is 25. If
three numbers 50, 38 and 52 are
discarded, find the average of the
remaining numbers.(Approximate)

27.77 27.77

20.33 20.33

22.59 22.59

20 20

Q.No: 57 Pooja is 13 years old and 3
years older than her friend
Reena, who is 2 years
younger than Beena. What
is Beena's age?

10 years

13 years

14 years

12 years

Q.No: 58 The ratio of A's and B's ages
is 3:5. If the difference
between their ages is 7
years, what is A's age?

9.8 Years

10.5 Years

10 years

9 Years

Q.No: 59 What is the LCM of 4, 6 and 12?

Q.No: 60 If the principal amount is
Rs.7000, the rate of interest is
10% per annum, and the time
period is 3 years, what is the
simple interest earned?

Rs.2100 Rs.2100

Rs.2830 Rs.2830

Rs.2500 Rs.2500

Rs.2050 Rs.2050

Q.No: 61 If the principal amount is
Rs.30000, the interest rate
is 6% per year compounded
annually, and the time
period is 2 years, what is
the total amount after 2
years?

Rs. 33708 Rs. 33708

Rs. 33705 Rs. 33705
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Rs. 33704 Rs. 33704

Rs. 33702 Rs. 33702

Not Answered

Q.No: 62 The distance between two
stations is 540 km. A
train takes 3 hours to
cover this distance.
Calculate the speed of the
train in m/s.

50 m/s 50 m/s

100 m/s 100 m/s

180 m/s 180 m/s

1620 m/s 1620 m/s

Not Answered

Q.No: 63 Simplify:

Q.No: 64 In a pouch, the ratio of
Silver coins to Gold coins is
3:8. If there are 88 coins
in total, how many Silver
coins are there?

Q.No: 65 A can complete a job in
16 days, while B can
complete the same job in
48 days. How long will
they take together to
finish it?

24 days

32 days

16 days

12 days

Q.No: 66 If 1 letter are taken at random from
the word HOMEOPATHY. What is the
probability that it is an 'H'?

Q.No: 67
If the cost price of an article is Rs.60
and the selling price is Rs.80, what is
the profit percentage?(Approximate)

Q.No: 68 A man can do a work in 20
days and a woman in 15
days. If they work on it
together for 5 days, then
the fraction of the work
that is left is :

Q.No: 69 A merchant buys 15 kgs of
jowar for Rs.30 per kg and
sold it for Rs.650. What is
the loss or profit percent
made?(Approximate)

42.22% Loss

42.22% Profit

44.44% Loss

44.44% Profit

Q.No: 70 The average of 22 numbers
is 18. If each number is
increased by 9, what will
the new average be?
(Approximate)

Q.No: 71 If you randomly choose a day of the
week, what is the probability that it is
a Monday?

Q.No: 72 Simplify:

Q.No: 73 What is the Highest Common Factor (HCF) of 40
and 60?

Q.No: 74 Simplify:

Q.No: 75 Simplify:

Section - IV (General Knowledge)

Q.No: 76 MODVAT is related to:

Service Tax

Income Tax

Excise Tax

Sales Tax

Q.No: 77 Lakes, dams and
irrigation system were
extensively built during
the time of
_____________.

Ashoka

Chandragupta Maurya

Dasharatha

Bindusara

Q.No: 78 Mining causes pollution because of the large
amount of :

slag produced

metal extracted

Earth dug up

sludge produced

Q.No: 79 Ingenuity is the name of the helicopter
that started flying in which planet in
space?

Mars

Uranus

Jupiter

Moon

Q.No: 80 In 5th edition of
logistics ease across
different states 2023
Odisha has been placed
under the category of :

Slow movers

Fast movers

Aspires

Achievers

Q.No: 81 Who co-founded SpaceX -
the first privately funded
space program?

Jeff Bezos

European Space Agency

Bill Gates

Elon Musk

Q.No: 82 When is the 'World Meteorological Day' observed?

July 16

March 25

April 19

March 23

Q.No: 83 The Lal Bahadur Shastri
National Academy of
Administration is located
in:

Mussoorie

Gwalior

New Delhi

Mount Abu

Q.No: 84 What is the full form of RNA?

Reverse Nuclear Acid

Ribonucleic Acid

Random Nuclear Acid

Retro Nitric Acid

Q.No: 85 As per the Indian Constitution, the Finance
Commission is appointed:

Every year

Every four years

Every two years

Every Five years

Q.No: 86 The Gandhi Ashram at
Sabarmati was
established by Mahatma
Gandhi in which year?

1932 1932

1918 1918

1915 1915

1927 1927

Q.No: 87 Nature's cleaners are:

decomposers

tertiary consumers

producers

autotrophs

Q.No: 88 Which is the most populous
state in India, as per the
Census 2011?

West Bengal

Karnataka

Maharashtra

Uttar Pradesh

Q.No: 89 The Table Mountain is in which country?

South Africa

Tanzania

Uganda

Kenya

Q.No: 90 Who said "In
a day, when
you don't
come across
any
problems,
you can be
sure that you
are travelling
in a wrong
path".

Martin Luther King

Mahatma Gandhi

Swami Vivekananda

George Washington

Q.No: 91 Who is the author of the new version of 'Exam
Warriors' book?

Amit Sha

Narendra Modi

Droupadi Murmu

Jay Shankar

Not Answered

Q.No: 92 Who among the following was the
first to invade India?

Aryans

Dutch

Portuguese

Mughals

Q.No: 93
Which country won FIFA World Cup 2022?

Spain

France

Brazil

Argentina

Q.No: 94 Who among the following is/was the
youngest President of India?

Ram Nath Kovind

Dr. Rajendra Prasad

Neelam Sanjiva Reddy

Giani Zail Singh

Not Answered

Q.No: 95 What is the National capital of the Federation
of United Arab Emirates?

Fujairah

Abu Dhabi

Dubai

Sharjah

Q.No: 96 Which of the following statements is TRUE?

Indus valley civilization is also known as the Harappan
civilization.

Indus valley civilization had Aryans.

Indus valley civilization marked the beginning of the
stone age.

Indus valley civilization did not exist for a long time.

Q.No: 97 Which country awards the prestigious ‘Wolf
Prize’?

France

Italy

Israel

Ukraine

Q.No: 98 What is the name given to Israel's Intelligence
Agency?

ISI ISI

MOSSAD MOSSAD

IIA IIA

INIA INIA

Q.No: 99 What is the name of the pigment that makes
leaves green?

Anthocyanins

Chlorophyll B

Carotenoids

Cyanobacteria

Q.No: 100 Magnetite, the natural magnet has the formula
of _____.

Fe3O4 Fe3O4

FeCl2 FeCl2

FeCO3 FeCO3

FeO FeO

Section - V (Computer Knowledge)

Q.No: 101 MIME stands for:

Multipurpose Internet Message Extensions

Multipurpose Internet Mail Exchange

Multimedia Internet Mail Extensions

Multipurpose Internet Mail Extensions

Q.No: 102 Router operates in which layer of
OSI Reference Model?

Network layer

Transport layer

Physical layer

Application layer

Not Answered

Q.No: 103 The server on the internet is also known as a
______.

Gateway

Repeater

Hub

Host

Not Answered

Q.No: 104 What is the shortcut for Spelling Check in MS
Word document?

Q.No: 105 What is full form of RTC ?

Related to clock

Related to check

Real time check

Real time clock

Q.No: 106 How many layers does OSI Reference Model
has?

Q.No: 107 How can you tell the email that you
have read from the email that you
have not read?

The unread mail will be blue

The unread mail will be on top

The unread mail will be on bottom

The unread mail will be bold

Q.No: 108 Any computer that has access to the web server
is called?

Web Browser

Web address

Software

Web Client

Q.No: 109 The shortcut key in MS-
Access used to Open an
existing database is :

Not Answered

Q.No: 110
Who designed the first electronic
computer-ENIAC?

Joseph M Jacquard

J.Presper Eckert

Von Neumann

Howard Aiken

Q.No: 111 Which of the following is not a valid version
of MS Office?

Office 2000

Office 2007

Office Vista

Office XP

Q.No: 112 The secret code that restricts entry to
some program is called:

Password

Entry-code

Passport

Access-code

Q.No: 113 What distinguishes an
operating system for
embedded devices from
others?

It is open-source

It runs on embedded systems

It supports multiple users

It provides a graphical user interface

Not Answered

Q.No: 114 Picosecond is equal to 10 to the power of ____.

-9 -9

-6 -6

-12 -12

-3 -3

Q.No: 115 In the context of transmission media,
What is the full form of STP?

Shielded Twisted Pair

Shielded Transmitted Pair

Shielded Twisted Port

Shielded Typical Pair

Q.No: 116 Which of the following is not a PowerPoint shape?

Rectangle

Circle

Triangle

Diamond

Q.No: 117 www.google.com is a _______.

Search engine

Static website

Government website

Mail engine

Q.No: 118 Delayed payload of some viruses is also
called as _____

Antivirus

Payload

Time

Bomb

Q.No: 119 What function does an operating system's file
system serve?

Organizing and storing data on storage media

Allocating CPU time to programs

Providing a user interface

Improving keyboard functioning

Q.No: 120 What is the shortcut key you can
press to create a copyright symbol?

Q.No: 121 A type of electronic spam
where unsolicited
messages are sent by e-
mail is:

Spam mail

Crash mail

Draft mail

Trash mail



Q.No: 122 Each excel file is a
workbook that
contains different
sheets. Which of
the following
cannot be a sheet
in workbook?

Macro sheet

Data sheet

Work sheet

Chart sheet

Q.No: 123 A set of rules followed by
each computer present on
a network is called
______.

Protocol

Domain

HTTP

Instructions

Q.No: 124 A ______ is a small
hand held computer
that helps you surf the
web and perform
simple tasks.

Notebook computer

Personal computer

Micro computer

Mobile phone

Q.No: 125 Which of the following is not an input device?

Optical scanners

Computer Output to Microfilm

Voice recognition device

Keyboard

Section - VI (General Science)

Q.No: 126 The direction of the
magnetic field around
a current-carrying
straight conductor is
determined by:

Ampere's Law

Newton third law of motion

Maxwell's Left-hand thumb rule

Maxwell's Right-hand thumb rule

Q.No: 127 Which species, when cut or torn
into parts, can regenerate by
growing back into entire
individuals?

Amoeba

Leishmania

Hydra

Spirogyra

Q.No: 128 Which of the following is not an example of non-
conventional energy source?

Wind energy

Nuclear energy

Solar energy

Biomass energy

Q.No: 129 Which one of the following shows the
correct relationship in terms of
reactivity?

Q.No: 130 Living organisms that
depend on other living
organisms for their food are
known as ______

Chemotrophs

Autotrophs

Heterotrophs

Detritivores

Q.No: 131 Which layer of the atmosphere is directly below
the stratosphere?

Ionosphere

Troposphere

Exosphere

Hydrosphere

Q.No: 132 A gland that makes hormones
that are released directly into
the blood is called as :

Specific gland

Exocrine gland

Endemic gland

Endocrine glands

Q.No: 133 Accumulation of a toxic
chemical in the tissue of a
particular organism is refers
to :

Bio magnification

Biosynthesis

Bio management

Bio accumulation

Q.No: 134 Near-sightedness can be corrected
using

Cannot be corrected because it is genetic disease

Convex lens

Concave lens

Plane mirror

Q.No: 135 Which of the following
statements is true about
self-pollination?

It requires two different parent plants
to be involved.

It is more common in wind-pollinated
plants than insect-pollinated plants.

It typically results in greater genetic
diversity than cross-pollination.

It is less likely to occur than cross-
pollination due to various plant
adaptations.

Not Answered

Q.No: 136 What is the term for the
gradual change in the
characteristics of a population
over generations?

Variation

Adaptation

Evolution

Heredity

Q.No: 137 _______ environmental issue
is caused by the release of
acidic oxides during the
burning of fossil fuels.

Acid Rain

Ozone depletion

Water pollution

Soil Erosion

Q.No: 138 Which of the following metals has the lowest
melting point?

Q.No: 139
Which of the following is NOT a function of saliva?

Oral hygiene

Initiate starch digestion

Aid in taste perception

Lubricate food for swallowing

Q.No: 140 When struck with a hammer,
a metal bends rather than
shatters. This property is
called:

Conductivity

Density

Ductility

Malleability

Q.No: 141 What is the name of the device that
converts electrical energy into
mechanical energy?

Transformer

Motor

Generator

Battery

Q.No: 142 Addition of salt to ice:

Increases the freezing point

Lowers the boiling point

Does not affect freezing or boiling point

Lowers the freezing point

Q.No: 143 Pituitary gland attached to which part of human
body ?

Kidney

Intestine

Heart

Brain

Q.No: 144 What is the scientific name of lion?

Leo Africanus

Panthera leo

Felis catus

Ursus arctos

Q.No: 145 AC is an abbreviation of ______in electrical
terms.

Alternating Current

Automatic Current

Ampere Current

Automatic Circuit

Q.No: 146 When a salt dissolves in
water, it separates into its
constituent ions. This process
is called:

Neutralization

Electrolysis

Ionization

Dissociation

Q.No: 147 The different feeding levels in an
ecosystem are called:

Populations

Trophic levels

Niches

Communities

Q.No: 148 Which of the following is NOT a major risk
factor for heart disease?

High blood pressure

Smoking

Regular exercise

High cholesterol

Q.No: 149 What is the chemical formula of sodium
chloride, a common table salt?

Q.No: 150 Members of which kingdom are
characterized by the presence of
chitinous cell walls?

Animalia

Fungi

Monera

Plantae

Not Answered


